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Bi -quadratic equation .
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Condition for instability
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the it is simply qso , i. e ; the angular velocity decreasing outward .

That
is satisfied in Keplerian disks .
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Magnetic field = spring
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Equivalence between MRI and springs . The magnetic tension behaves
-

EXACTLY like a restoring force , provided K = (K - ra)
'
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So
,
the instability

condition is
.
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Discuss weak and strong field limit

.

Show dispersion relation .



-

criticalwavelength
da -- 2ft . : k = VT r

FA

§±2Iw=rn -VI. re CH

r

week field iutebilite

rao
'

;
Hilo" i " "FF '

noora = B

¥5 I
Varro.iq

T VAN loom Is

D-- ra - cheap - 104cm IS

prior
"glacis Bara .V45F

=

i. 13=104
. co
- 5N - 1516 f- to

-PKI
=

m 3

week field .

= 10-8 . 103g = lo
?

-
-

( 102cm)3 106

( o
- 8×10-123=15 ' 'gap


